o3 HoA 712 Bk F odAlS 5 A
Fg718] gAlS ot A2 R WAl whl | 22-4 | 32+4
= ofo] §l 2 2|22l gttt A, B, 2-3 | 4z+1
C, D o] g9r2 Ao} 22L& At = c | D

BH:D=



= ohgA
R WAL ok, A2 WL Al
of M1 & AT Tk 4B,
o ke Aol 52 Aol

BH:D=

e L

2z+5

—x—4

3z—1

2x="T7

C

D




teizt.

S

o ghe 7



St ?

.;L

O
=

o 3

8
ab

a=-2,b=34 0, 242 -

4.

Ailllar)






6. ~4(3x-5)-a(sr-3) & AWSREY QA A% ) o

=giek. ol 45gE Totolel.

5 S
=%



g O
~ o
rlo
Ehs
)
o
2
tlo
o
oo
%
=]
fol
i
M
poY)
o
o

@ 3x+2(x-1)=3x+2x-2

@ 2(x-3)-(2x+1)=2x-6-2x-1
® %(6x+3)—(x+1)=2x+1—x—1
@ —(x-2)+ (-2x+4) = -x+2-2x+4
®

1 2 1 2
—§(X+4)—§(3x—1)=—§x—4—2x+§

o




1 3
Z(8x+ 16)+6<§x—2)




Agolel Aagole 4 x 77F 501 AL, I F a e L extE,
b e Wexe, yzs A5 ddaaoln. Agel7t Auet
BHE a, b, x 9 o2 YER[H?

@ 100a + 5000 + 10(x —a —b) ¥
@ (100a + 500b + 10x) ¢

® 500a + 1006 + 10(x —a - b) Y
@ 500a + 100b + 10(x +a+b) A

® (500a + 100b + 10x) A



10. 5 ol x 9 5H= 4 3 At 1 throl y A S A 5 47 FS
Fsteler.

. (e}
S EEE !



11, 907} x 90 3 89 o]9)3 2] 37HE AT BelA) grof A
A7ke] 2 B2 FIoto] WS o, Wof 7422 Tspolel.

Be @



12. the BAE A§T 402 ekl 2 F 84

ies
rlo

® %% ap o B - LY

@ 8kg 9 a% — 0.08a (kg)

@ 500 fAE oto]2AH y 7l — 500y ()
@ a 7h°fl 3000 ¥1 53 1 H2] 7F4 - 3000a

® A% 3km = x AZHESH LAY - 3x (m)

Y

rlo



13.

>

2 o] 212 7|49 Bulst 2ok 1°C 22 ufnteh 0°C o o &
me) M BIhRE WA R, (18 371) = (0°C2) Hal)x
=715}

Y E5) 2 vhepa 4 glek 0°C @ o ¥77} 546 21 7]

o) LEE 24°C & LFE 1), F713 71419] Bl S Tstolet,

B -

\}

[\

w



Follda=6, b=3<Y o,

Holg Fahw 9

@ 18 ® 36 @ 40 ® 81

@9



e

Al
A

& 7] afolel,

2x—3-3[1-{2x—(x+3) -1} —x




sholat,

:[L

slo
U=

T A 719 gL o, x 9] A%

ojn

x—3>, {x-3(7T-3x)-1} +2




17. o= A< 3] shofzt

5x+2-2Bx—1+ {x-2(x-3)-4}]




